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Bib 2] FTlE % S 4F | StartTime
101k #a1E BENFER 5| 9:55:15
102|) 1A= 7048 FRRR/NFER 6 9:55:30
103|F0H @& REF/NERR 6|  9:55:45
104|118 7o =Pk IN=ayn 5 9:56:00
105(R)1 B3 RENFR 6| 9:56:15
106|#8  Fk IR/ NFR 6 9:56:30
107|152/ Ll L/ AER/NFER 6 9:56:45
108|FBH +x 1/ AR /INER §) 9:57:00
109|5R #ExX mEAJ) RC 5]  9:57:15
110(#vE =2 INB N o) 9:57:30
111{#A At HEBE/NER 6| 9:57:45
112|FK =7 RENFER 5|  9:58:00
113|EBH-F & BRI ER/NFR 5 9:58:15
114|lsH B L/ RN ER 4 9:58:30
115)EE8 &K R SRAN=22 N 6]  9:58:45
116| MDD (% FITNFR 5/ 9:59:00
117\H EE B2l N=ab 1% 6| 9:59:15
118|/BH & waE R NFR 41 9:59:30
119187 && AR L /N 5 9:59:45
120[H Z£m ER/NPFER 4 10:00:00
1210ER  #%0 FODPFEFRE 5| 10:00:15
122(lL&E WE Fx D7-L\CSC 5 10:00:30
123|188  RFH 1K) SC 5| 10:00:45
124\ AREHZED FRRR/NFR 6 10:01:00
125|% =0 REFNERR 6| 10:01:15
126|FR Mk RE/NFR 6|/ 10:01:30
127 |#K 5ig HERE/NFER 5 10:01:45
128|£ER8 =Xk L/ AENER 5 10:02:00
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Bib 2] FTlE % S 4F | StartTime
1291788 #1E L/ RER/NFER 41 10:02:15
130|H+ HE BRI 41 10:02:30
131pkFHF =6 7K ) SC 41 10:02:45
132|Fk FR AR L /N 41 10:03:00
133|£€H &iE FIF/INFER o 10:03:15
134|FRK @y RENFER 5 10:03:30
135[A0R ER R SRAN= N 4| 10:03:45
136|FHE Fi& FRIES/ N 5 10:04:00
137 |G R E B0l N=ab 1% 6| 10:04:15
138|mE EXK FODONEFRHE 5 10:04:30
139/ NBFREETh & L/ RA/INER 5 10:04:45
1407 A waEmRILNFR 5/ 10:05:00
1411l B =P=o =% 5| 10:05:15
142\ 1uE  BF REF/NFR 6| 10:05:30
143(1H BR BEIL/NFER 5 10:05:45
144\ EHM T B TR R/ INF R 6| 10:06:00
145|% BFR RENFK 5| 10:06:15
146|ERICZ B AER/NER 5 10:06:30
LAT7[/NAR BRER RE/NFR 6| 10:06:45
1480 =X 1/ AR /INER 5 10:07:00
19| R & wEERILNER 41 10:07:15
150|788 B& R SWAN=22 % 5| 10:07:30
151[3kR %R BIRRR/NFER 5| 10:07:45
152|F0H 3Bk REFNFR 6| 10:08:00
153|274+ BE (HEBE/NER 6| 10:08:15
154|128 EE L/ AE/NFR 5| 10:08:30
155(thE 235 RENFER 5 10:08:45
1560 (ER SR SWANE N 5 10:09:00
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1657 [/NEF 2B RE/NFR 6| 10:09:15
158|ILA  IRE AEIL/NER 41 10:09:30
159(\LH tHE B EIL/NFR 41 10:09:45
160|= 1l  HiE L/ AE/NER 41 10:10:00
161|111 =B REF/NERR 6| 10:10:15
1628 HfE FIRERR/NFR 6| 10:10:30
163[ER &= RE/NFR 5|  10:10:45
164|H)Il t& 1/ AR /INER 41 10:11:00
165|hiE 4l L/ NE/INFR 41 10:11:15
166|EE RF BB R/NFER 6 10:11:30
167|2H =% FRRR/NFKR 41 10:11:45
168|#x EE BB R/NFER 41 10:12:00
169| & [ 5 FRRR/NFKR 41 10:12:15




